TPMI—( V. T, YY)

B
CETb :
7% (545
1]2 1 [8]4[5]6 78]

HORROOLCERCRE

HE=E

B /2 N 58
D r—-— 777~ 1 1
~ | | | |
o | | | |
~ | | |
9 10 11 12 13 | 14 15 16
TPM1
o g
g |
& JE 0 0 o o -
g N v“mj NPOT.
L Kn.0,25;0,5 U3MEP b-PEFYNATOP VITYHT]- Q
S
=
s 12 ' 3456 78
=
& OO PPODPDP
I
<
o ! [ —] ! !
= I | | |
< | | |
S L __ J Lo
3
& [Togkmouerue npoBogob
S !
S
>
0 el CEne«ennn
Q
S Jlum. | Macca | Macwmab
3 ,
§ |9 |'|0| |"|12|13| I |14|15|16| VM | Slucm | Ne gokym. llognuce | flama TPM].
L 321 Pa3pat. WBarob MM VlaMmepumenu— pegynamopul
< =B BXOA MlpoBep. | MBanos #u MUKDPONPOUECCOpHHE
§‘ T koHmp. | Barob NN Jlucm Jlucmob 1
2 Pyk pa3
< H koHMpP. | MBarob UM
= YmB, MBaroB UM
Konupoban ®opmam A3




